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P55 wELM EEHRT 272 FIES
1 BIR 4G *HxxH*Q1231 TE* 7108
2 BUR &5 *HAxXRQ1 251 fE* 5L 2621
3 BR &G *HxXHR%01230 & 6338
4 BUR &5 *HHXXRQ] 242 X * 2156
5 BUR &5 *HH***Q1 256 Ji*#% 6829
6 BUR &5 *HAxIHRQ1 244 F*zz 5997
7 BR &G *HxXHR%Q1205 Ak 6889
8 BIR &G *hxrHR*Q]235 A*HE 0730
9 BR 4G *HxFH*Q] 240 Ho* 4 1796
10 BIR &G *HEXHR*Q1216 Ji* 3260
11 BIR &G FH*IH*Q] 212 ZEx 2664
12 BR 4G FHxHIH*Q] 224 B 3189
13 BIR &G *hxIHR*Q] 257 X *E 3092
14 BUR &5 *HHXX*Q1218 fa[* % 8441
15 BUR &5 *HAxXRQ1237 > 1054
16 BUR &5 *HHxX*Q1233 St 1922
17 BRA T *Hx*H*Q]258 Asx 4426
18 BUR &5 *HH*X*Q1 263 > 7077
19 BUR &5 *HHXXRQ1 243 JE* 6568
20 R 25 *HXHX*Q1206 iR 2 4632
21 BIR 4G *HxFH%91209 VP> 1949
22 BIR 4G *hxHHR*Q] 252 []* 2883
23 R 25 FhIHRXXQ1203 5> 1189
24 BIR 4G FHxIH*Q] 214 FE*AY 8010
25 R 25 FHIHXXQ1220 XI* 3 9677
26 BUR &5 *HHxX*01210 Ak 2300
27 BUR &5 *HHXX*Q1226 BE*%% 5339
28 BUR &5 *HHxX*Q1 260 XIJ*3H 6855
29 BUR &5 *HEXHRXQ] 227 =B 3193
30 BUR &5 *HAXXRQ1217 H* 2892
31 BUR &5 FHAXXHRQ] 222 H* EE 7121
32 R 25 FHrHRXXQ1 234 ¥ * 9969




33 BURA TR *HxXHRXQ] 245 > 0097
1 PG 42 *kkx**Q71 209 ZE*fi 3207
2 PG 452 *kkxx*Q1 283 B 9029
3 PG 42 *hxXH%Q]332 ZE*fiR 3089
4 [P = *HHH*%01328 i 2917
5 P87 452 Fhkkk k]330 A 3898
6 [P = *HHH*x01309 k> 1813
7 [P = *HHHxx01305 g 2976
8 [P = *HRHH*XQ1321 K> 8600
9 [P = *HHH*x91310 F*ig 0658
10 PG 42 *kkkx*Q]323 XU 3327
11 PG 77 4855 *kH***Q1327 LW 1968
12 PG 42 *kkxxkQ]334 X * ¥z 7718
13 PG 77 4855 *RHkH*XQ1317 FxUE 9977
14 PG 452 *kkx**Q1 203 A 0956
15 PG 77 4855 *HHxXXQ1205 =ik 4298
16 [P = *HRHH**Q1284 Ph* 4694
17 P97 452 FhkkkxQ] 304 i 7789
18 [P = *HHH*x01303 2L* 7016
19 [Py = *HHH*%01289 [ 0088
20 [zt = *HHxx*Q1301 T PR 1905
21 [P = *HHH**Q1340 E* 9553
22 PG 452 *kkxx*Q] 285 E*IE 2681
23 PG 452 *kkxx*Q1311 = 5273
24 PG 452 *HxXHR%Q1320 JA* A 6391
25 PG 452 *kkxx*Q]312 Fr3E 0867
26 PG 452 *HxxHR%Q1308 > 3329
27 PG 452 *HxxHk%01306 >, 7198
28 Pi T 452 FkkkkxQ]337 Ji*FH 1048
29 [Py = *HRHHXXQ1291 FEALAn 8110
30 T &5 *HRHH*x01313 K> 1563
31 Fi T 452 Fhkkk k1290 T *ER 9272
32 T &5 *AF*X%Q1335 ExEf 7574
33 [Py = *kHxx*01338 r*ig 0649
34 PG 452 *kkxx*Q]315 B3 2332
35 PG 452 *kkxx*Q] 287 Bh*zg 7447
36 PG 452 *HxXHA*Q]1319 > Fay 4792
37 PG 452 *Hkkx**Q]329 FExp 3180
38 PG 452 *HxxHR%Q]1339 FEXR 2690
39 PG 452 *hxxHR*Q]331 K> 7 0826
1 X 4% 28 355 *HRH*X*Q1415 F*E 8831
2 X £ 22 % 2 *HRHH*XQ1424 SRS 6176
3 X £ 22 % 2 *HRHHXXQ1422 7*n 9665




N

4 WX &8 25 355 2 *HHxX*Q1430 e 6076
5 K] 8% 25 355 2 *RHxXXQ1431 i 2199
6 R 2% 22 5 2 *HEXHRXQ]425 FEFR 8858
7 W] &8 25 355 2 *HRH*XXQ1423 > 4066
8 X £ 22 % 2 *HRHH*XQ1411 T 1068
9 X £ 22 % 2 *HRHH*XQ1416 E* 1817
1 HEL T Fhkkk k] 501 Asx 0099
2 BORE LG FhkkxQ] 500 fa]* g 8976
3 BOR LG *HRH*X*Q1499 faf*Z 3200
1 AL 5 FkkkkxQ]397 T* 7797
2 RS2 *hxrHR*Q]387 HE*HL 0672
3 RS *HxrHR%Q]353 ZEx 1 3333
4 RS *kkxxkQ] 355 H*F 2756
5 RS *hxrHR*Q]383 B> 4E 2997
6 RS2 *HxrHR%Q]389 > 1313
7 RS *HxXHR*Q]349 ZEx R 7882
8 AL 5 FhkkkxQ] 344 A* 2877
9 HRLTF *rkkkxQ1372 oty 4987
10 AL 5 FhkkkxQ] 364 JE*A 5197
11 AL 5 *hkkkxQ]388 el 72 3873
12 H I uF *hkk k0] 368 FA*EE 6928
13 RS2 FhkkkxQ]373 R[§*F- 5073
14 RS *HxXHR*Q]360 B 3699
15 HARZHF *rkH*xQ1384 Xi)* 0048
16 HARZH *HRHH*XQ1402 ik*t 2979
17 HARZGF *HRHRH*XQ1410 XI* 7 8116
18 RS *HxXH%Q1370 PR*AT 6381
19 RS *HxXHR*Q]346 s 9302
20 AL 5 *kkkkxQ] 356 XIJ* 7161
21 H It Fhkkk k01401 E* 2234
22 H I PF *hxkk %1408 F*75 1727
23 H I PF FhkkHkxQ]379 AE*H] 8048
24 H I PF Fhkk k0] 404 B> 6782
25 H I PF FkkkkxQ] 3097 T 2575
26 RS *HxXHR%Q1390 XI* 0157
27 RS *HEXHRXQ1407 HE* L 5387
28 RS *HxXHR%Q1409 BE*IR 1150
29 AR L5 *Hkkxx*Q] 376 st 6154
30 RS *HxXHR%Q1406 Rl 9281
31 HARZG *HRHkH*XQ1361 e 8459
32 H I uF FkkkkkQ] 367 BA*L 5827
33 ARG *kxxx*Q1304 Be*th 1066
34 ARG *HRHH**Q1343 H* 8581




35 AR L5 *Hx*HR%Q]396 xR 3665
36 AR L5 *HxrHR*Q]391 C3fag ) 5846
37 HAZGF *RHkH*%Q135] E* 9559
38 AR L5 *HxXHR*Q]369 Zu* 7057
39 AL 5 FkkkkkQ] 347 B f 6796
40 AL 5 *kHxx*Q]348 S 3868
41 H I Pt *HHH*xQ1352 fr[* gk 0950
1 oA Z¥ *HxXHR*Q1438 =g 5120
2 oI AZN 2 *HHH*XQ1440 E*Jk 1083
3 oA Zw *hkkk %1439 > 0798
4 o AZ3 = *HRH*XRQ1 444 [x]* 2280
5 (o AZ3 = *HRH*XRQ1441 E*AX 1218
6 A2 = *kkkk k0] 435 75 4550
1 2N S *HRHRHXXQ]267 E* 8521
2 Sy A *HEXHR*Q] 266 BrHE 0816
3 2y AR *HEIHRXQ] 264 I i 0821
1 2Nl *HRHHXXQ]1275 1> 7868
2 2N *hkkkxQ] 978 y* 9731
3 2Nl *RHXXRQ] 277 k> 8460
4 2N *kkkkkQ] 281 ZSHf 4608
5 2Nl *HRH*X*Q1276 XK 6675
6 2N *HRHXXXQ1 273 . 2959
7 2N FHEKHKXQ] T2 FH* 4350
8 2N FHEXHRXQ] 271 B* % 1307
9 2 *HEXHRXQ]1270 ZE*[H 2188
1 bR 5H 5 *HRAXXRQ1474 FE*H 3069
2 bR 5H 5% *HRHXXRQT472 XV 6523
3 NG 7R *HH*XXQ1482 KA 6552
4 NGk *HRHHXXQ1479 PV 0929
5 NG *HHx**Q1489 X|*3% 2269
6 NG *HHxx*Q1486 T*5R 7638
7 bR 5 % *HRH*X*QT469 fa*s 5140
8 bR 5 % *HRHXXRQTATT (SRR 5265
9 bR 5 % *HxXHR*Q1485 F* 8888
10 bR 5H 5 *HH***Q1468 =i 9677
11 bR 5H 5 *HRH*XXQ1476 G 2894
12 bR 5H 5 *HRA*XRQ1484 Z* ) 6511
13 bR 5H 5% *HH***Q1496 > 0349
1 RIBL T *HH*XXQ1461 > 6319
2 RIBLT- *HHx**Q1456 > Fifi 0318
3 KRG *RA*XRQ1 464 FE* % 6699
4 KRG *RHx**Q145] T 5952
5 KRG *RHx*RQT A48 ZrN 9322
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